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Quiz 1 on Monday



Directed Acyclic Graph (DAG)

No directed cycles

Precedence 
relationships are 

consistent



Topological Sorting of a DAG

Order the vertices so that all edges go �forward�

Topological sorting 
è DAG

DAGè Topological 
sorting



TopOrd(G=(V,E))

1. If |V| = {u}, return u
2. Let w be a node with no incoming edges
3. Let G’ be G\{w}
4. Return w; TopOrd(G’)



Run of TopOrd algorithm



Todays’ agenda

Run time analysis of TopOrd

Prove Lemma 3



Mid-term material

Everything we have covered so far (essentially Chaps 1-3 except Sec 1.2)

See piazza post on how to prepare for the mid-terms



Questions?


